PROJECT	: Farrington Highway Resurfacing Vicinity of Kili Drive to Satellite Tracking Station Road													
PROJECT	NO.: STP-093-1(026) NET LENGTH OF PROJECT: 5.							er e						TE OF HAWAII
ISLAND:	Oahu DISTRICT: Waianae TYPE CODE: 05, 21, 3	31, 43			GRACE	PACIFIC LLC	HI-BI	UILT, LLC	JAS W. C	SLOVER, LTD.		ND HIGHWAY DERS, LLC		ARTMENT OF ISPORTATION
DATE AD	VERTISED: Internet Posting - May 17, 2016		** NOTE: Quantities									, <u> </u>		WAYS DIVISION
BID OPEN	IED: June 16, 2016		shown in this column are for	:	:									
COMPLET	ΓΙΟΝ ΤΙΜΕ: Two Hundred Sixty (260) Working Days	in-house use only.												
ITEM NO.	ITEM	APPROX.	**APPROX.	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
202.0100	Removal of Existing Embankment	L.S.	L.S.	L.S.	L.S.	\$635.00	L.S.	\$330,000.00	L.S.	\$9,000.00	L.S.	\$50,000.00	L.S.	\$10,000.00
202.0200	Removal of Existing Concrete Piles (Sta. 1138+00± Rt. to Sta. 1138+15± Rt.)	L.S.	L.S.	L.S.	L.S.	\$5,700.00	L.S.	\$99,000.00	L.S.	\$20,000.00	L.S.	\$15,000.00	L.S.	\$12,000.00
203.0100	Roadway Excavation	7,030	7030 C.Y.	C.Y.	\$200.00	\$1,406,000.00	\$220.00	\$1,546,600.00	\$120.00	\$843,600.00	\$120.00	\$843,600.00	\$130.00	\$913,900.00
203.0200	Borrow Excavated Material	2,090	2090 C.Y.	C.Y.	\$19.00	\$39,710.00	\$110.00	\$229,900.00	\$120.00	\$250,800.00	\$250.00	** \$522,500.00	\$130.00	\$271,700.00
203.0300	Probing of Underground Utilities for Road Stabilization (Sta. 1292+85± Lt. to Sta. 1294+35± Lt.)	F.A.	F.A.	F.A.	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00
209,0100	Installation, Maintenance, Monitoring, and Removal of BMP	L.S.	L.S.	L.S.	L.S.	\$150,000.00	L.S.	\$550,000.00	L.S.	\$314,000.00	L.S.	\$350,000.00	L.S.	\$150,000.00
209.0200	Additional Water Pollution, Dust, and Erosion Control	F.A.	F.A.	F.A.	F.A.	\$125,000.00	F.A.	\$125,000.00	F.A.	\$125,000.00	F.A.	\$125,000.00	F.A.	\$125,000.00
212.0100	Archaeological Monitoring	F.A.	F.A.	F.A.	F.A.	\$70,000.00	F.A.	\$70,000.00	F.A.	\$70,000.00	F.A.	\$70,000.00	F.A.	\$70,000.00
212.0200	Blessing Ceremony	F.A.	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
301.1000	Hot Mix Asphalt Base Course	45	45 Ton	TON	\$245.00	\$11,025.00	\$143.00	\$6,435.00	\$670.00	\$30,150.00	\$500.00	\$22,500.00	\$350.00	\$15,750.00
304.1000	Aggregate Base	3,925	C.Y.	C.Y.	\$290.00	\$1,138,250.00	\$208.00	\$816,400.00	\$185.00	\$726,125.00	\$250.00	\$981,250.00	\$250.00	\$981,250.00
315.1000	Non-Woven Geotextile Fabric (Shoulder Widening)	12,470	S.Y.	S.Y.	\$5.00	\$62,350.00	\$7.00	* \$87,290.00	\$2.70	\$33,669.00	\$8.00	\$99,760.00	\$8.00	\$99,760.00
315.2000	Non-Woven Geotextile Fabric (Stabilization)	1,235	S.Y.	S.Y.	\$5.00	\$6,175.00	\$9.00	\$11,115.00	\$9.30	\$11,485.50	\$10.00	\$12,350.00	\$27.00	\$33,345.00
401.0100	HMA Pavement, Mix No. IV	15,500	15500 Ton	TON	\$153.00	\$2,371,500.00	\$162.50	\$2,518,750.00	\$192.00	\$2,976,000.00	\$150.00	\$2,325,000.00	\$235.00	\$3,642,500.00
401.0110	HMA Pavement, Mix No. IV under Guardrail	360	360 Ton	TON	\$329.00	\$118,440.00	\$445.00	\$160,200.00	\$375.00	\$135,000.00	\$350.00	\$126,000.00	\$400.00	\$144,000.00
401.0200	HMA Pavement, Mix No. V, Leveling Course	970	970 Ton	TON	\$186.00	\$180,420.00	\$164.00	\$159,080.00	\$226.00	\$219,220.00	\$350.00	\$339,500.00	\$200.00	\$194,000.00
					L1						1		Sheet No. 1 of 7	Chaota

Sheet No. 1 of 7 Sheets

PROJEC1	: Farrington Highway Resurfacing Vicinity of Kili Drive to Satellite Tracking Station Road	:		İ											
PROJECT	NO.: STP-093-1(026) NET LENGTH OF PROJECT: 5.43	Miles			A A A A A A A A A A A A A A A A A A A										
ISLAND:	Oahu DISTRICT: Waianae TYPE CODE: 05, 21, 31,	43			GRACE	GRACE PACIFIC LLC		HI-BUILT, LLC		JAS W. GLOVER, LTD.		ND HIGHWAY	STATE OF HAWAII DEPARTMENT OF		
DATE AD	VERTISED: Internet Posting - May 17, 2016		** NOTE: Quantities	: :	}								TRANSPORTATION HIGHWAYS DIVISION		
BID OPEN	IED: June 16, 2016		shown in this column are												
COMPLET	COMPLETION TIME: Two Hundred Sixty (260) Working Days			for in-house use only.											
ITEM NO.	INO. ITEM QUANT		**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
414.0100	Excavation of Weakened Pavement Areas	200	200 C.Y.	C.Y.	\$145.00	\$29,000.00	\$200.00	\$40,000.00	\$215.00	\$43,000.00	\$250.00	\$50,000.00		\$35,000.00	
415.1000	Cold Planing of Existing Pavement	L.S.	96460 S.Y.	L.S.	L.S.	\$515,000.00	L.S.	\$275,000.00	L.S.	\$867,000.00	L.S.	\$800,000.00	L.S.	\$832,390.00	
416.1000	Paving Grid	13,520	13520 S.Y.	S.Y.	\$9.50	\$128,440.00	\$17.00	\$229,840.00	\$13.50	\$182,520.00	\$15.00	\$202,800.00	\$18.00	\$243,360.00	
507.1000	Pedestrian Rails on Makaha Bridge #3B (Waikomo)	L.S.	L.S.	L.S.	L.S.	\$38,000.00	L.S.	\$26,400.00	L.S.	\$25,000.00	L.S.	\$40,000.00	L.S.	\$12,800.00	
507.2000	Pedestrian Rails on Makaha Bridge #4 (Keaau)	L.S.	L.S.	L.S.	L.S.	\$53,000.00	L.S.	\$35,970.00	L.S.	\$34,000.00	L.S.	\$50,000.00	L.S.	\$22,400.00	
507.3000	Pedestrian Rails on Makaha Bridge #5 (Na Ohikilolo)	L.S.	L.S.	L.S.	L.S.	\$35,000.00	L.S.	\$25,300.00	L.S.	\$24,000.00	L.S.	\$35,000.00	L.S.	\$10,900.00	
507.4000	Pedestrian Rails on Makaha Bridge #5A (Ohikilolo)	L.S.	L.S.	L.S.	L.S.	\$29,000.00	L.S.	\$20,900.00	L.S.	\$20,000.00	L.S.	\$35,000.00	L.S.	\$8,000.00	
604.4300	Adjusting BWS Water Manhole Frame and Cover	3	3 Each	EACH	\$660.00	\$1,980.00	\$660.00	\$1,980.00	\$1,000.00	\$3,000.00	\$850.00	\$2,550.00	\$800.00	\$2,400.00	
604.4400	Adjusting BWS Water Valve Box Frame and Cover	21	21 Each	EACH	\$660.00	\$13,860.00	\$660.00	\$13,860.00	\$1,000.00	\$21,000.00	\$850.00	\$17,850.00	\$800.00	\$16,800.00	
604.4500	Adjusting Hawaiian Telcom Pullbox Frame and Cover	14	14 Each	EACH	\$660.00	\$9,240.00	\$660.00	\$9,240.00	\$1,000.00	\$14,000.00	\$850.00	\$11,900.00	\$1,000.00	\$14,000.00	
604.4600	Adjusting AT&T Manhole Frame and Cover	4	4 Each	EACH	\$660.00	\$2,640.00	\$660.00	\$2,640.00	\$1,000.00	\$4,000.00	\$850.00	\$3,400.00	\$1,000.00	\$4,000.00	
604.4610	Adjusting AT&T Manhole Frame and Cover (Beyond Shoulder)	1	1 Each	EACH	\$660.00	\$660.00	\$660.00	\$660.00	\$1,000.00	\$1,000.00	\$850.00	\$850.00	\$6,000.00	\$6,000.00	
604.4700	Adjusting Army Water Manhole Frame and Cover	1	1 Each	EACH	\$660.00	\$660.00	\$660.00	\$660.00	\$1,000.00	\$1,000.00	\$850.00	\$850.00	\$800.00	\$800.00	
604.4800	Adjusting Army Water Valve Box Frame and Cover	6	6 Each	EACH	\$660.00	\$3,960.00	\$660.00	\$3,960.00	\$1,000.00	\$6,000.00	\$850.00	\$5,100.00	\$800.00	\$4,800.00	
606.0100	Guardrail Type Strong Post W-Beam	L.S.	14637.5 L.F.	L.S.	L.S.	\$960,000.00	L.S.	\$906,070.00	L.S.	\$911,000.00	L.S.	\$1,100,000.00	L.S.	\$731,875.00	
606.0200	Guardrail Type Strong Post W-Beam with 8' Post	L.S.	262.5 L.F.	L.S.	L.S.	\$13,000.00	L.S.	\$17,864.00	L.S.	\$24,000.00	L.S.	\$15,000.00	L.S.	\$39,375.00	
606.0300	10' Guardrail Posts - Strong Post W-Beam Guardrail	L.S.	51 Each	L.S.	L.S.	\$21,000.00	L.S.	\$5,940.00	L.S.	\$20,000.00	L.S.	\$25,000.00	L.S.	\$15,000.00	
L				<u> </u>									Sheet No. 2 of 7	Sheets	

PROJECT	<ul> <li>Farrington Highway Resurfacing</li> <li>Vicinity of Kili Drive to Satellite Tracking Station Road</li> </ul>														
PROJECT	NO.: STP-093-1(026) NET LENGTH OF PROJECT: 5.	43 Miles											0.74	TE OF HAMAN	
ISLAND:	Oahu DISTRICT: Waianae TYPE CODE: 05, 21, 3	31, 43			GRACE	PACIFIC LLC	HI-BUILT, LLC		JAS W. GLOVER, LTD.		ROAD AI	ND HIGHWAY	STATE OF HAWAII DEPARTMENT OF		
DATE AD	VERTISED: Internet Posting - May 17, 2016		NOTE: Quantities										1	NSPORTATION WAYS DIVISION	
BID OPEN	IED: June 16, 2016		shown in this column are for	· ·											
COMPLET	FION TIME: Two Hundred Sixty (260) Working Days		in-house use only.												
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
606.0400	Terminal Section Type Fleat 350	L.S.	33 Each	L.S.	L.S.	\$170,000.00	L.S.	\$197,780.00	L.S.	\$161,000.00	L.S.	\$180,000.00	L.S.	\$198,000.00	
606,0500	Terminal Section Type SKT-350	L.S.	7 Each	L.S.	L.S.	\$33,000.00	L.S.	\$44,880.00	L.S.	\$32,000.00	L.S.	\$35,000.00	L.S.	\$42,000.00	
606.0600	Terminal Section Modified Type "A-1"	L.S.	3 Each	L.S.	L.S.	\$41,000.00	L.S.	\$15,400.00	L.S.	\$39,000.00	L.S.	\$45,000.00	L.S.	\$60,000.00	
606.0700	Terminal Section Type "G"	L.S.	1 Each	L.S.	L.S.	\$4,820.00	L.S.	\$5,720.00	L.S.	\$5,000.00	L.S.	\$10,000.00	L.S.	\$10,000.00	
606.1000	Guardrail at Culvert Station 1297+65	L.S.	L.S.	L.S.	L.S.	\$75,000.00	L.S.	\$15,620.00	L.S.	\$73,000.00	L.S.	\$70,000.00	L.S.	\$7,000.00	
606.2000	Guardrail at Culvert Station 1243+08	L.S.	L.S.	L.S.	L.S.	\$90,000.00	L.S.	\$15,620.00	L.S.	\$83,000.00	L.S.	\$80,000.00	L.S.	\$11,000.00	
606.3000	Headwall at Culvert Station 1227+41	L.S.	L.S.	L.S.	L.S.	\$53,000.00	L.S.	\$15,620.00	L.S.	\$37,000.00	L.S.	\$45,000.00	L.S.	\$8,000.00	
606.4000	Guardrail at Culvert Station 1216+09	L.S.	L.S.	L.S.	L.S.	\$83,000.00	L.S.	\$15,620.00	L.S.	\$79,000.00	L.S.	\$75,000.00	L.S.	\$13,000.00	
606.5100	Guardrail Type 4 - Endpost Upgrade Makaha Bridge #3B (Waikomo)	L.S.	L.S.	L.S.	L.S.	\$98,000.00	L.S.	\$27,335.00	L.S.	\$82,000.00	L.S.	\$80,000.00	L.S.	\$110,000.00	
606.5200	Guardrail Type 4 - Makaha Bridge #4 (Keaau)	L.S.	L.S.	L.S.	L.S.	\$98,000.00	L.S.	\$40,150.00	L.S.	\$80,000.00	L.S.	\$80,000.00	L.S.	\$85,000.00	
606.5300	Guardrail Type 4 - Endpost Upgrade Makaha Bridge #5 (Na Ohikilolo)	L.S.	L.S.	L.S.	L.S.	\$98,000.00	L.S.	\$19,360.00	L.S.	\$81,000.00	L.S.	\$80,000.00	L.S.	\$110,000.00	
606.5400	Guardrail Type 4 - Endpost Upgrade Makaha Bridge #5A (Ohikilolo)	L.S.	L.S.	L.S.	L.S.	\$98,000.00	L.S.	\$17,820.00	L.S.	\$81,000.00	L.S.	\$80,000.00	L.S.	\$110,000.00	
606,6000	Guardrail Type 4 - Wall Upgrade Makaha Bridge #4 (Keaau)	L.S.	L.S.	L.S.	L.S.	\$77,000.00	L.S.	\$15,620.00	L.S.	\$65,000.00	L.S.	\$65,000.00	L.S.	\$100,000.00	
606.7000	Guardrail Type 3 - Thrie Beam Transition	L.S.	L.S.	L.S.	L.S.	\$100,000.00	L.S.	\$100,320.00	L.S.	\$96,000.00	L.S.	\$110,000.00	L.S.	\$80,000.00	
615,0110	16-Inch Milled Rumble Strip, Centerline	L.S.	32626 L.F.	L.S.	L.S.	\$36,000.00	L.S.	\$12,650.00	L.S.	\$12,000.00	L,S.	\$40,000.00	L.S.	\$391,512.00	
			<u>Europe Services (Services Services Ser</u>	1							<u></u>		Sheet No. 3 of 7	Sheets	

PROJECT:	Farrington Highway Resurfacing Vicinity of Kili Drive to Satellite Tracking Station Road													
PROJECT	NO.: STP-093-1(026) NET LENGTH OF PROJECT: 5.4	3 Miles											STAT	TE OF HAWAII
ISLAND: C	Dahu DISTRICT: Waianae TYPE CODE: 05, 21, 31		nangaj ya mara		GRACE 1	PACIFIC LLC	HI-BU	ILT, LLC	JAS W. G	LOVER, LTD.	ROAD AN	ND HIGHWAY		ARTMENT OF ISPORTATION
DATE ADV	/ERTISED: Internet Posting - May 17, 2016		NOTE: Quantities	į								•	•	VAYS DIVISION
BID OPEN	ED: June 16, 2016		shown in this column are for											
COMPLET	ION TIME: Two Hundred Sixty (260) Working Days		in-house use only.											
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX.	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT						
615.0300	6-Inch Milled Rumble Strip, Shoulder	L.S.	49220 L.F.	L.S.	L.S.	\$56,000.00	L.S.	\$19,910.00	L.S.	\$19,000.00	L.S.	\$60,000.00	L.S.	\$393,760.00
618.0100	Modular Rubber Speed Hump, 21' W x 14' L	L.S.	2 Each	L.S.	L.S.	\$22,000.00	L.S.	\$17,600.00	L.S.	\$21,000.00	Ĺ.S.	\$10,000.00	L.S.	\$20,000.00
619.0100	Common Bermuda Grass - Cynodon dactylon	L.S.	27660 L.F.	L.S.	L.S.	\$38,000.00	L.S.	\$132,000.00	L.S.	\$248,000.00	L.S.	\$250,000.00	L.S.	\$37,000.00
619.0200	'Aki'aki grass - Sporobolus virginicus	L.S.	12210 L.F.	L.S.	L.S.	\$41,000.00	L.S.	\$165,000.00	L.S.	\$166,000.00	L.S.	\$175,000.00	L.S.	\$63,500.00
619.0300	'Ilima papa - Sida fallax	L.S.	2060 L.F.	L.S.	L.S.	\$11,000.00	L.S.	\$8,800.00	L.S.	\$145,000.00	L.S.	\$150,000.00	L.S.	\$4,100.00
627.0100	Endangered Species	F.A.	F.A.	F.A.	F.A.	\$15,000.00	F.A.	\$15,000.00	F.A.	\$15,000.00	F.A.	\$15,000.00	F.A.	\$15,000.00
628.1000	Shotcrete for Road Stabilization	L.S.	45 C.Y.	L.S.	L.S.	\$91,000.00	L.S.	\$71,500.00	L.S.	\$48,000.00	L.S.	\$65,000.00	L.S.	\$100,000.00
629.1011	Double 4-Inch Pavement Striping (Thermoplastic Hot Spray)	L.S.	7015 L.F.	L.S.	L.S.	\$33,000.00	L.S.	\$23,650.00	L.S.	\$22,000.00	L.S.	\$25,000.00	L.S.	\$28,060.00
629.1013	4-Inch Pavement Striping (Thermoplastic Hot Spray)	L.S.	12075 L.F.	L.S.	L.S.	\$26,000.00	L.S.	\$18,150.00	L.S.	\$17,000.00	L.S.	\$20,000.00	L.S.	\$24,150.00
629.1016	8-Inch Pavement Striping (Thermoplastic Hot Spray)	L.S.	65251 L.F.	L.S.	L.S.	\$170,000.00	L.S.	\$120,120.00	L.S.	\$115,000.00	L.S.	\$115,000.00	L.S.	\$261,004.00
629.1022	12-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	L.S.	51 L.F.	L.S.	L.S.	\$1,400.00	L.S.	\$990.00	L.S.	\$1,000.00	L.S.	\$3,000.00	L.S.	\$612.00
629.1024	24-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	L.S.	26 L.F.	L.S.	L.S.	\$850.00	L.S.	\$605.00	L.S.	\$600.00	L.S.	\$3,000.00	L.S.	\$624.00
629.1030	Crosswalk Marking (Tape, Type III or Thermoplastic Extrusion)	L.S.	3 Lane	L.S.	L.S.	\$1,550.00	L.S.	\$1,100.00	L.S.	\$1,000.00	L.S.	\$3,000.00	L.S.	\$1,200.00
629,1050	Pavement Word (Tape, Type III or Thermoplastic Extrusion)	L.S.	7 Each	L.S.	L.S.	\$3,100.00	L.S.	\$2,200.00	L.S.	\$2,000.00	L.S.	\$3,000.00	L.S.	\$2,100.00
629.1060	Pavement Symbol (Speed Hump Advance Warning Markings) (Tape, Type III or Thermoplastic Extrusion)	L.S.	4 Each	L.S.	L.S.	\$1,550.00	L.S.	\$1,100.00	L.S.	\$1,000.00	L.S.	\$3,000.00	L.S.	\$2,000.00
			1									<u> </u>	Sheet No. 4 of 7	Sheets

PROJECT: Farrington Highway Resurfacing Vicinity of Kili Drive to Satellite Tracking Station Road  PROJECT NO.: STP-093-1(026) NET LENGTH OF PROJECT: 5.43 Miles  ISLAND: Oahu DISTRICT: Waianae TYPE CODE: 05, 21, 31, 43  DATE ADVERTISED: Internet Posting - May 17, 2016  BID OPENED: June 16, 2016  COMPLETION TIME: Two Hundred Sixty (260) Working Days  APPROX.			NOTE: Quantities shown in this column are for in-house use only.		GRACE PACIFIC LLC		HI-BUILT, LLC		JAS W. GLOVER, LTD.		ROAD AND HIGHWAY		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
629,2020	Type "C" Pavement Markers	L.S.	1632 Each	L.S.	L.S.	\$16,000.00	L.S.	\$11,440.00	L.S.	\$11,000.00	L.S.	\$15,000.00	L.S.	\$16,320.00
629.2030	Type "D" Pavement Markers	L.S.	964 Each	L.S.	L.S.	\$9,310.00	L.S.	\$6,600.00	L.S.	\$6,500.00	L.S.	\$7,500.00	L.S.	\$9,640.00
629.2070	Type "H" Pavement Markers	L.S.	303 Each	L.S.	L.S.	\$3,260.00	L.S.	\$2,310.00	L.S.	\$2,000.00	L.S.	\$3,000.00	L.S.	\$3,030.00
629.2080	Type "J" Pavement Markers	L.S.	2450 Each	L.S.	L.S.	\$19,000.00	L.S.	\$13,310.00	t.s.	\$13,000.00	L.S.	\$15,000.00	L.S.	\$19,600.00
631.5000	Regulatory Sign (10 Square Feet or Less)	L.S.	9 Each	L.S.	L.S.	\$1,370.00	L.S.	\$1,430.00	L,S.	\$1,300.00	L.S.	\$1,500.00	L.S.	\$5,400.00
631.5001	Regulatory Sign (10 Square Feet or Less) with Post(s)	L.S.	12 Each	L.S.	L.S.	\$5,420.00	L.S.	\$7,150.00	L.S.	\$5,200.00	L.S.	\$6,000.00	L.S.	\$8,400.00
631.5003	Regulatory Sign (More than 10 Square Feet) with Post(s)	L.S.	2 Each	L.S.	L.S.	\$18,000.00	L.S.	\$7,150.00	L.S.	\$17,000.00	L.S.	\$18,500.00	L.S.	\$1,600.00
631.5100	Warning Sign (10 Square Feet or Less)	L.S.	14 Each	L.S.	L.S.	\$2,230.00	L.S.	\$16,500.00	L.S.	\$2,100.00	L.S.	\$2,500.00	L.S.	\$8,400.00
631.5101	Warning Sign (10 Square Feet or Less) with Post(s)	L.S.	32 Each	L.S.	L.S.	\$16,000.00	L.S.	\$935.00	L.S.	\$15,000.00	L.S.	\$17,000.00	L.S.	\$22,400.00
631.5103	Warning Sign (More than 10 Square Feet) with Post(s)	L.S.	9 Each	L.S.	L.S.	\$4,160.00	L.S.	\$19,690.00	L.S.	\$4,000.00	L.S.	\$4,500.00	L.S.	\$7,200.00
631.5400	Directional Sign (10 Square Feet or Less)	L.S.	7 Each	L.S.	L.S.	\$985.00	L.S.	\$3,520.00	L.S.	\$1,000.00	L.S.	\$1,500.00	L.S.	\$4,900.00
631.5500	Directional Sign (10 Square Feet or Less) with Post(s)	L.S.	25 Each	L.S.	L.S.	\$18,000.00	L.S.	\$1,155.00	L.S.	\$17,000.00	L.S.	\$20,000.00	L.S.	\$20,000.00
632.0100	Type 3 Object Marker with Post(s)	L.S.	23 Each	L.S.	L.S.	\$7,880.00	L.S.	\$10,560.00	L.S.	\$7,500.00	L.S.	\$9,000.00	L.S.	\$11,500.00
632.0200	Mile Post Marker and Route Number Plate with Post (Bi-Directional)	L.S	13 Each	L.S	L.S	\$4,820.00	L.S	\$5,390.00	L.S	\$4,500.00	L.S	\$5,000.00	L.S	\$6,500.00
632.0300	Reflector Marker (RM-2, White) with Flexible Delineator Post	L.S.	21 Each	L.S.	L.S.	\$3,940.00	L.S.	\$4,455.00	L.S.	\$4,000.00	L.S.	\$4,500.00	L.S.	\$1,680.00
641.0100	Hydro-mulch cap	L.S.	39260 L.F.	L.S.	L.S.	\$26,000.00	L.S.	\$38,500.00	L.S.	\$13,000.00	L.S.	\$75,000.00	L.S.	\$253,250.00

Sheet No. 5 of 7 Sheets

PROJECT ISLAND: DATE AD' BID OPEN	ł l			NOTE: Quantities shown in this column are for in-house use only.		GRACE PACIFIC LLC		HI-BUILT, LLC		JAS W. GLOVER, LTD.		ROAD AND HIGHWAY		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
643.0100	Maintenance of Existing Landscape Areas	F.A.	F.A.	F.A.	F.A.	\$9,000.00	F.A.	\$9,000.00	F.A.	\$9,000.00	F.A.	\$9,000.00	F.A.	\$9,000.00	
645.0100	Traffic Control	L.S.	L.S.	L.S.	L.S.	\$400,000.00	L.S.	\$660,000.00	L.S.	\$1,078,000.00	L.S.	\$1,100,000.00	L.S.	\$910,000.00	
645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	F.A.	F.A.	F.A.	F.A.	\$240,000.00	F.A.	\$240,000.00	F.A.	\$240,000.00	F.A.	\$240,000.00	F.A.	\$240,000.00	
648.0100	Field-Posted Drawings	L.S.	L.S.	L.S.	L.S.	\$6,000.00	L.S.	\$11,000.00	L.S.	\$2,000.00	L.S.	\$10,000.00	L.S.	\$5,000.00	
694.0100	Longitudinal Channelizing Curb System	L.S.	2 Each	L.S.	L.S.	\$13,000.00	L.S.	\$22,000.00	L.S.	\$12,000.00	L.S.	\$5,000.00	L.S.	\$24,000.00	
695.1000	State-Furnished Portable Concrete Barrier	13	13 Each	EACH	\$3,000.00	\$39,000.00	\$63.50	\$82,550.00	\$2,800.00	\$36,400.00	\$2,000.00	\$26,000.00	\$2,500.00	\$32,500.00	
695.2000	Inertial Barrier System	L.S.	L.S.	L.S.	L.S.	\$51,000.00	L.S.	\$22,000.00	L.S.	\$32,000.00	L.S.	\$20,000.00	L.S.	\$7,500.00	
696.1000	Maintenance of Trailers	F.A.	F.A.	F.A.	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	F.A.	\$50,000.00	
699.1000	Mobilization (Not to Exceed 6 Percent of the Sum of All Items Excluding the Bid Price of this Item)	L.S.	LS	L.S.	L.S.	\$580,000.00	L.S.	\$605,000.00	L.S.	\$650,000.00	L.S.	\$670,876.00	L.S. Sheet No. 6 of 7	\$736,433.82	

PROJECTISLAND: DATE AD BID OPEN	PROJECT: Farrington Highway Resurfacing Vicinity of Kili Drive to Satellite Tracking Station Road  PROJECT NO.: STP-093-1(026) NET LENGTH OF PROJECT: 5.43 Miles  ISLAND: Oahu DISTRICT: Waianae TYPE CODE: 05, 21, 31, 43  DATE ADVERTISED: Internet Posting - May 17, 2016  BID OPENED: June 16, 2016  COMPLETION TIME: Two Hundred Sixty (260) Working Days  APPROX   **APPROX   **			GRACE PACIFIC LLC		HI-BUILT, LLC		JAS W. GLOVER, LTD.		D HIGHWAY	DEP/ TRAN	E OF HAWAII ARTMENT OF ISPORTATION VAYS DIVISION
ITEM NO.	ITEM	APPROX. HAPPROX. QUANTITY UN	NIT USED UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	A. Sum of All Resurfacing Work Items     B. Either Furnish Foreign Steel Not to Exceed Minimal Am Furnish Foreign Steel in Excess of Minimal Amount (Fill	nount (Fill in '0') or in 25% x A)		\$10,810,290.00	***	\$11,394,939.00 \$0.00		\$12,085,669.50		\$12,649,136.00 \$0.00		\$13,425,980.82 \$0.00
	C. Amount for Comparison of Bids (A + B)  I certify that this is a true and correct tabulation of bids for t			\$10,810,290.00		\$11,394,939.00		\$12,085,669.50	)	\$12,649,136.00		\$13,425,980.82
	* The amount for Item No. 315,1000 submitted by HI-BL  ** The amount for Item No. 203,0100 submitted by Road  *** The Sum of All Items submitted by HI-Built, LLC in the  *** Li Nah Okita, Project Manager	and Highway Builders, LLC in the am	nount of \$510,000,00 did no	ot equal the calculate	ed amount of \$523	mitted unit price. 2,500.00 using the	submitted unit pr	ice.				